February 12, 2015

ARANSTOR M TIpNS

ARANSLATONS
= Shides

Ko noNS

1___7 TU.V HS\(\\(?O\O—\O\
O \(Y

RerecioNs ~
2 Flps G




| : TRANSLATIONS

S}La;'m aCC.OmU"_Vj

! {‘ o move T whele
~) huwhacHhe oo

slling you
J |V

-2




February 12, 2015

¥ Tor each onz.
You move rn over

Yond downbyZ.
(X-F-L} omd >/—2>

(X, Y2
T shosis

SaANS -




February 12, 2015




I\

RoTATIONS © Tuwni ng

Your shape (eithur
by 0" or 1207 )

b

5
4
3
2
|

b 5 4 3 -2~ 1 2 3 ¢ 5 b 7
~1
2

-3

-t
=5
-b

How do we dethis??
FRULES B RUTRTINSK

@ AV vzotion

KYd>—= () x)
@ (30" rofution: A

J
(D= (x,y)

@) (%;qufgg%onr N
(X0 — (4 %) 3

February 12, 2015



February 12, 2015

gaview
() ’an«slwh onS <FL >

_7____——==—-=—

ex: £ (2.57 —> <X+219+3>

—_— 30\}\ ’EO-'K/Q—W« wofd/\f\w,"ﬂs
of cach of your P POLNTS
and odd 2 10 e >( —Valve
dnd 3 to the y-valul




February 12, 2015

1(3,%) (K =062 G+3)
2\
(;/Pr //c. (0,1




February 12, 2015

tan) | KYPoys)
Pf‘ | / ¢/
2\
(%/ﬁ ()
G/ A :(-3-;2‘ \+5\
(o) (-1,
B (—5+Z’~Z+3>
("5/ ‘)
C (192 1+3)




K?OD : %vu ore 90{n(9 ong
— ?Mma{ran—{ C.C.W.

((oun%r—(,(,ooK M'&) N
(x> (0 T
EX: CZ,'5> — <5/ Z>
V/XD -' gou are 7’)"”?
- advands (or
Orzo\;il’_)c# f{q anZ}o&g é}'_ﬁ
(YD —> (X,7Y)
X (5,712) 2 (-5,12)
F’C]O : you. are movmﬁ
(AK.Q«*Z??:’) O?tégiiﬁs CW.
(—X(g)—? (g/’X>
Y (h,2) = (2,70)

February 12, 2015



February 12, 2015

A(s, 4)

G




D2 (=Y, X)

%,<|16>

A

/<LD

AN

CI

G




February 12, 2015

lag

Roflections (FLI P>

e
“RULES ¥

D qC(,p@\)ef%u AN
Kp—-y) &b

09 . wcllp ovar%mg«-afg_'s

CORIGIENES S

lio o 1[1+ vadrant

AL ¥ l;d\;f 5 @4"
(X,Y) >(g X.)

A{S ﬁﬁ\p over ANt

4 vad vahrant b I&@C’}OV“

(X, N> (Y=X) 7 D\\




February 12, 2015




February 12, 2015

)
()(,9)9(“9 ‘XSA B¥> U’{S C(b‘s.)
(f 6,2)
Ar)
%\
C b ]
V




